~-8cm-~E~6cm-

® EF @ DF ©h

@ DE, EF ® DF, EF

ﬁ:m:ﬁ:E_CE}@,A_C//ﬁO]E}.
6:45=8:6 °]2& AC //DE o|t}.




th2 194 bABCDE=AD /BC 5H dem
Atttg]&Zoltt. AE:EB=5:3, AD //EF
o of, PQ o] 4ol & Foteiet

TS~-14em--77

AE:EB=DF:FC=5:3

BE:BA=FEP:AD

3:8=EP:4

8EP = 12,EP = 1.5(cm)

14x5+4x3 82 41

— = —=—=1025
5+3 8 4 (o)

PQ = EF - 2EP = 7.25(cm)

EF =




thS T4 AD & /A 9 o] 5H Ao 1 A
AB = 3AC, AC = CF ©|t}. AADC =
25cm? 9 @, ADBE 9] Ho|E F5to=h C

E
p  E: cm?
> M. 75cm?
AF o] A4} BE o] 934 n e A
G 21 51 BE = EG, AC = CF =
FG och. ¢

AB:AC—BD:DC .
AABD = 3AADC ‘ ‘
- == - - B [ G
AD = DE ©¢]|22 AABD = ADBE 9] E

ot.
.. ADBE = 3AADC = 75( cm?)




4.

@ AB//EF © L ling
® AC//DE @ ACAB OACFE

® ABAC c0ABDE

® 6

B

D38 :
@9 : )

:9#£9 :990|22 AC//DE & &4 ¥t (x)
@8 :
®6 :

12+ 9 :9°]2& AB//EF &+ &7 ¥t} (x)
6 =12 :8 0|22 DF//BC °]t}. (

1229 :9 0|22 g-go] olyrtt. (x)
9+9 :9°]BR gFo] ofyr}, (x)




ZEEE:

dol=?

@ 4cm @ 5cm 3)6cm @ Tcm ® 8cm

AAEO 9} AABC 9] §2H|7} 3:4 0|22 EO = 3 o|t}.
ADOF ¢} ADBC o] F2H|E 3: 4 0|2 & OF = 3 o|t}. whatA]
EF =6 o]t}




E}%lau%lczgoo?l e A = S B¢

AADC 9] Ylo|E 5HH?

A7z ol A D
BC ¢}°] wHoltt. AB = 10cm, BC = 8

@ 8cm? @)9cm? ® 10cm?

@ 1lcm? ® 12cm?
AABC £ AZ7Hgo|n g Yol §x 6x % — 24(cm?) o]t}
AD = /A 9 o]5RMolE2 AB:AC=BD:DC=5:3
AABD £} AADC o)A o] Zt1 o] 5: 3 0|22 AABD

AADC = 5: 3 o]t}
- AABD = gAABC = g x 24 = 9(cm?)




@ﬁ//%ﬂ'ﬁ,ﬁﬁ:A_CC—EO]q’
4:2=6:3°]22 DE//BC o|t}.
@ DE//BC 2tH, AE : EC = AD : DB °]|t}.
3:9=2:6°]22 DE//BC ©]|t}.




D)36 cm @ 37cm ® 38cm

@ 39cm ® 40cm

AE = ¢ &1 519
22x2a+14x2a 22+14

H= = 1

G 24+ 2a 2 8(cm)

— 1 14 1 14

EF = Lialch xa_ Lhs = 16(cm)
a+ta 2

— 22 1 22 +1

7 — X a+ 8><a: 4 8:2O(cm)
a+ta 2

1J + EF = 20 + 16 = 36(cm)




-2 1o A AD &= /BAC 2] o] 5EA0]3 AABC 9] WolE a
23 & off, AABD 2] Y olE a of #alo] YERHH?
B
1 11 11 5 6

@ ﬁa @ gd @ Ea @ ﬁa @ ﬁa

AD & /A 9 o5 B Holm2 AB:AC=BD:DC=6:5

AABD 2} AADC of|A] o]= 201, R0l 6 : 5 0]B2 AABD

AADC =6 : 5 o]t}

6 6 6
.. AABD = ﬁAABC— ﬁ Xa= ﬁd




~6em” K ~5em”

@)pF//BC
® AC//DE

® ABAC cABDE

@ DF =2 o,

(@)sCAB ©aFAD

~&B

olc}.

@ /A 7} 35, /ABC

COAFAD (AA B-g)olth.

@ aABC oA AD: DB =AF: FC =3:2 °|2& DF//BC

33

@ 6:10=DF : 11 °]E2 DF = == o]},

5
(ADF (%9]7ZhHo]|B& ACAB




11. o2 294 AD // EF // BC & W, x,y
o] 2?

4:10=(9-6): (y-6)
4y — 24 = 30,4y = 54
27

Ly=— =13.
y 5 3.5




12. o2 199 AABC 9|4 AD 7} £A 9] o] 5 HE A 0]3, AABC 2] Yol
7} 35cm? 4 W, AABD 9} AADC 9] Y o]9] =2

A

D) 7cm? @ 9cm? ® 14cm?

@ 2lcm? ® 24cm?

B ~

AD = A 9 o]5RMo|lm2 AB: AC=BD:DC=3:2
AABD €} AADC oA =o]= a1, WHo] 3: 2 0]E 2 AABD

ABDC = 3:2 o]t}
AABD = gAABC = g X35 =21
2 2

AABD 9} AADC ¢] Ylo]9] 2}= 21 - 14 = 7(cm?) ©o]t.




